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wenatant & fe e
Instructions for the candidates :

] GO QUIENTE W 77?&{@:? IR]
Candulates are m@ﬁ to gue therr answers in ther cwn words as far as

pructwable &Q\
$
2. ol s o ot 2 gy stw qoiE Five wad ki
Figures in the right hand margin indicate full marks

3 IH 9T @ IR YA A & T 15 ez e siafte wwe R e k)
15 munutes of extra time have been allotted for the candidates to read the questions

carefully.

4. uF wEed gt avsi 3 ¢ — avg-% 03 avy-u/
This question paper s dusded into two sections — Section-A and Section-B.
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s auga i eouwgtra e & fori @ e so wyat wr v & dfvard 41 gy
& atfew weAl & Im W AT 50 gt @1 &) e e §R laa
:.':?hs'makﬁ‘—mrJaiwf#uffm#mz?madstmfmm?om IW 9% 3
ﬁza‘:rdm?weﬁ?ai#/mafadw#mﬁ:&ﬁ:ﬁmg—m/
mwﬂ/ﬁ?/waﬂﬁmommﬂ%mﬁmmwtm

qFtaT TITomT W Fi
In Section-A, there are 60 objective type questions, out of which any 50 questions

are to be answered. First 50 answers will be evaluated by the computer in case
more than 50 questions are answered. Each question carries 1 'mark. Darken the
circle with blue / black ball pen against the correct option.on OMR Ansiwer sheet

provided to you. Do not use whitener / liquid / blade / nall etc. on OMR-sheat,

otherwise the result will be tnmli&.

6. @UZ-T i aragam?vl@l# frnd & [T 15 wvat &1 37 37 A b
Wmm%ﬁvz{rza@%u&‘ihmaﬁﬁ?ﬁ 3 gvs 5 8 Id Ita wv R
T8, fm:mﬁx@4w#wmé=rrhmm&?fm s 3@ Fife &1

In Section-B, §hcrc are 27 short answer type questions, out of which any
15 questions are lo be answered. Each question carries 2 marks. Apart from this,
there are 8 long answer type questions, oul of which any 4 questions are to be

answered. Each question carmes § marks.

7. Fet FR & gelegife IYTOT T WA qUiaar afad &1

Use of any electronic appliances is strictly prohibited.

[ 210 ] G {7036-G un Page 2 of 24

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

™Yy - X/ SECTION - A

T U¥T / Objective Type Questions )
mmxﬁwmtmtmwmf&vﬂqtﬁaﬂﬂwnﬁtlﬁﬁn

somﬁtmmmqﬂwwﬂﬁmdouarﬂzwﬂlﬁmﬂl

S0 x1 =50

Question Nos. | to 60 hawe four oplions, out of which only one is correct. Answer any

50 questions. You have to mark your sclected option on the OMR-Sheet. 50«1 =50
| Cot(90° - A} =
/- P
(A) cot A B tanA
(C] sinA (D) il A ® T/ none of these
2/ V3R um
(A) ufeig dem (B) WA Hem
—iC) - Ay wA (D)  ¥T-A FH W
J3 isa
(A) Rational number \Q’® (B) Natural number
(C) Irrational nun,1§) (D) nonc of these
3. 1 cusccﬂ-JlO@ scclhe?
3
P B @ IO
J10 3
l —2
C —_— ~ D —_—
© 7o T
If cosec0 = 10, then secO is cqual to
3 J10
A —_— B AL
l J_ 710 (B) 3
] 2
(C)  — D —_
7o e T
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Y YA I ﬂ?hlﬂmﬁ?
4, &l’-‘;}ﬁ Rixy.y,) i S(xy.¥, @ firerrt A & A

/ \ % W%
P EREN L o [

\ 2 2 /

\ /

The coordinates of the mid-point of the line segment joining the points R(x, )

and S(x,,y,) is

X +y, X X\ +X% Y1 *Y;
(€) [I' 2.4 _y’] (D) (X + %28 * Y2
2 2
5, % fi sl ot g et o €
(A)  waErTER ~ (B} AT
Q . 5 8y 8
(C) mmm@@ (D) T & &3 T
R
Two circles of diﬂ'@ radii are always
N\ -
(A) congn@ (B) similar
(C)  congruent and similar (D)  nonc of these
tan49°
Ay 3 . (B) 2
{CL1 (D) 6
i./ IR AN 2,7, 12,17, .. F T ayy-a,y F 97 ¥ (R o, qHR SO0 H1
n @ 9% 1)
(A) 100 B) 10
-—fC}/SO (D) 20
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The value of a,

"0, forthe AP 2,7, 12,17, .. [where a, denotes the n-th

twerm ol AP g
(Al 100 ) 10
i) 50 1) 20
e R P TP P b
v a3
A) [‘~;] (B) -4.%]
"\/’
- 14
=) (-3.3) @ (-3,4)
The zeroes of the polynomial 2x? + Sx =12 are
(.3
w43 o (-+3)
~ J 4
(C) [-_—2-.3] D) (-3.,4)
9/ & < et #) w3 @l } )
A 25 ~JBr 30
(Cy 32 (D)
How many two-digt nu@l arc divisible by 3 ?
A 25 &5 B) 30
ICy 32 Q\QQ’ (D) 36

QA . .
IU/ T2 minA - %}Qnm cot A &1 HFE T

(A) % (B) -:—;
Jag o 5
I sinA = % , then the value of col A =
W ® %
© 2 o =
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~

: . v ay =) & NTEDY pm P
b R o & ey e BT dgedy 6, 2o 4y ) M

MR\, -2 L -3

0 8 (Od 2
- . - ‘

For whach valve of k will the system of equations 4xeky =6, 2x-4y =3 han

many uhons P

N -2 B -8

<8 o 2
12 S 13,20, L6 TR E

Al 118 (B 104

O D) 125

The muddie term of the AP. 6, 13,20, ..., 21618

Ay 118 B . 104

11 (D) 125
13 =Rie.-s)wmygat

W 6 g\@& ® -5

o"e & o s

'i'!:c.r~c:::-cu'1‘1::-'Q \"thcpntmlﬁ.-SIis

w o6 O - @B -5

iy -6 D) S
13, sec?60*-1 TS E

w2 ® 3 .

o B o~ o

Value of sec? 60° -1 is

Ay 2 ® 3

< 4 D) o
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150 TR (x? e Sx 4 8) & Yuw 4w ol ) (wef)ew?

W s BT -5
€ 8 D) -8

Il a and P are zeroes of (x? +5x4 B) then ([a¢})=?

A} 5 B) -5
€ 8 D) -8

16. a2 et wmfyang fngr s b ol e o o 9, A FEE G

J3
[d‘\] "‘4—'(32 (B] [/} +g+c
€ 3V4a?-p? (D) ———-"‘““:“"2
If an isosceles triangle has base b and cqual sides a, then its area will be
Y3 2
W 2, (8) ﬁ&“—‘-
© LJaa? _p? Q’Q\ (D) bi4a? -p?
2 6‘*\\ 4
&
17, 4R WHET x - 2483 AL 3k 4 ky = | T CF AT 6A A, @
~ QQ
A)  k=-6 - B) k»-6
(C) k=0 (D) k=0
If the cquations. x=2y = 3 and 3x+ky =1 have an unique solution, then
(A)  k=-6 AB"k» -6
(€ k=0 (D) k=0

18, fadl dAm # Fa 10 m ¥ T4 T IR B0 450 @, @ R D o
HaTE AR 9T T 2

(A) Sm B) 8m
€} 7m —D}— 10m
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the angle of clevation of the sun s 43¢
cn

The heght of a tower 1s 10 m Wh 49

what will be the length of the tower's shadow on the greu
Al Sm By 8m
) 7m

o fFR g F & R S em A N7
scme, M ga F R

(A} 7 cm

(D) 10m

By 6cm

centre of the circle is 4 cm, then the radius of the circle 18
(Al  7em B) 6cm
(C} 3em (D) 4cm
L g pp——— g - B R S e RGO

mfawa & 2
1 1
w3 N B 5
g\\ 2
© ¥ o %
Q
N |
Two dice @ﬁm‘m together. The probability of getting the same number on
both dice is
1 1
(A) 3 (B) 3
1 2
(€ ry (D) 3
21, sccO=7?
cos0 1
) sin0 (B) cos(
1 sin0
Ao s @ sn
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22, TR 3con0.2 @, A (28cc? 0+ 2tan?0-7) w1 0 Aim;
(A} 0 B 1
) 3 D) 4
If 3cos0 =2, then the value of (28cc? 0+ 2tan? 0-7) will be
Ay 0 B 1
€ 3 D) 4
23, f&® wen £ % ofzm €1 %t wigw P(E)®, & Frifea d @ wd & 2
A P(E)<O (B) P(E)>1
(C)  -1sP(E)s1 JPr  0<P(E)s)
If the probability of occurrence of an event E is P ( E ), then which of the
following is correct ?
(A) P(E)<O B) P(E)>1
(C) ~-1sP(E)s] (D) O0g< P(E)s]
29, WR P -u-3FEEAIRE?
A 3.1 g\\QQ ® 3,-1
€ 31 @&@;\% 2 D) -3,-1
What are the s of polynomial x* -2x-3 ?
A 3,1 S B 3,-1
(€) -3,1 O -3,-1
25. el ga &t anitar 30 fee fag W o wwdt & 2
A} = | B) 2
) 1 o) 3
At how many points docs a tangent line of a circle touch it ?
(A) B 2
) 1 @ 3
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26 2.6,4.5.0,2, 1,3, 2% WA}

Al 2 | 3
C) © D) 1
Mode of 2,6,4,5,0,2,1,3.21s
A} 2 | 3
) 6 (o) |1 N .
. b4 ]F[ -
27, ufg W@ (2c-1), (Ix+2) T (6x - 1) T st 31 &, @ x
(A} 3 ® |
2 o) © -
If the numbers (2x-1), (3x + 2) and (6x-1) arc in A.P., the valuc of x1is
A) 3 B 1
) 2 Dy O
28, % Feumd WEAETT px? + 4x +3 =0 % qF WAL E, A pH g &
2 4
© 32 N D) 3
5 O 5
S 1 .
Il roots of qUﬂdf\%@tquau'on px? +4x +3 =0 arc cqual, then the value of Pis
2 QQ 4
(A) 3 @ (B) 3
4 3
© 3 (D) 5
29. 31 A WGHI & HoWo ¥
@ 0 B 1
€ 2 D) 4
The HCF of two consecutive numbers is
(a0 B) 1
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W0 R 2,0)® 5 e fag

. o
JN V0 m 2
V3 D) 5
Distance of the point ( 2, ) from the ongin is
A Vo B 2
(IR D) §
3 ; .
,1’ 21,1815, ... & ajh-m YA ?
A 6 | 748
Cr 8 | oy 9@
Which term of the A.P. 21,18,15, ... is 0 ?
(A) 6th (B) 7Tth
(€)  8th (D). 9th
32w o feg fe fag it oo omi gt o oo @
W "~ B Wi
N
€ (A :g\@gi 0) Tl & ¢
The dtsmnt@ a point in first quadrant from the x-axis is called
(A) x-coordinate (B)  y-coordinate
(C)  both (A) and (B) (D)  none of these.
33 U 2-x(x-1) & AR B UAGH §
~Aa -2 B) 2
(C) 7 (D)
The product of the zcroes of the polynominl 2-x(x~1) is
A -2 B) 2
c 7 D) L
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34, Feafafoa 8 o) aatag 2ot @ 2

A 12.5%77,... (B V2,¥8,/18,¥32,...

(€} -10,-16,-2,2, ... (D) 02,022 0222, 02222, ..
Which of the following is an A.P. ?

(A) 13,5272 73,... B  J2,V8.J18,¥32,...

(€)  -10,-16,-2,2, ... (D) 02,022, 0222, 02222, ..

3s.  frrfefam o wrne gt 2

A} 2-x%+3x B) x4+l

NSt (D)
Which of the following is not a polynomial ?
A} 2-x3+ 3 (B) %xvl

1
x+l

c x* (D)

36, thwdﬁﬁ?@%mmﬂfqmwaﬁﬁuﬁmﬂt,a}q&wm

. >

\Q‘G
CINCTS (B 30°
o a5 (O)  60°

If the height of a vertical pole and the length of its shadow on the ground are

the same, then the angle of clevation of the sun is

(A) 0* (B) 30°
C) 45° D)  60°
37/ afg A 3R Bﬁ@mﬁ f& sinA=cosB, (A+B)=7?
(A) 45° (B) 60°
e 90° ' (D) 30°
[210 )G (7036-G ax Page 12 of 24

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

I A and I ate two acule angles such that sin A = cos [ then (A« =7
(A] 45 m 60
<y %o 0y 30

Ly W (4, 1) s (2,3 b am @ g0

A 33 B /5
) 345 N
Distance between the points (4, -1 Jand (2,3 ) is
A 33 B
€} 345 D) 25

9. % et &t fromat @ sepma () 2) & @ ) Sadl w seE (50 3) 8L A
Tk st @ e b

A 4:9 (B) “11:12
Y 5:12 Q& (D] 20:9

Radii of two cylinders @%Qm the ratio ( 1 : 2 ) and their heights are in the ratio
{S5:3}, then lhcir\g@g’mcs aren the ratio

(A) 4:9 @Q B 11:12
€) 5:12 (D) 20:9

40. R 1,4, x 5T 2T MR TE, A xFTAL

Al 6 B) 8

S 13 ) 9

If1,4, x,5and 12 is 7, then the valuc of xis

A} 6 B 8
(€ 13 D 9
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At 5005 % fwt v iR & 7
m 4
o 7

2
i )

How many prime factors of 5005 arc there ?

(A) 2 B) 4
) 6 o 7
42 1+tan’ A .?
/ lecot!A
Ay -1 (B) sec’A
(C) cot? A r([},l/"um2 A

43, U ug @1 e @ gl 21 cm FR &1 TEE G110 iz H-2fad e @

(Al 126 cm? ~Br~ 210cm?
(C) 231 cm? (D). 252 cm?

The minute needle of a @ntch is 21 cm long. The area covered by it in
10 minutes is \\Q
>

(A) 126 cm? \Q‘&‘ (B) 210cm?

Q
(€) 231c-®$ ' (D) 252cm?

44) fegt (3,2) 3R (-3,2) < smafean &

A I T (B) y-3 W
O 3 & @ 3R (D) x3 & ZF1 AN

Both of the points ( 3, 2 ) and (-3, 2 ) are located on

(A) X-0Xi8 (B) y-axis
(C)  one side of x-axis (D)  both sides of x-axis
210 ) G [7036-G u7 Page 14 of 24
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b AN A ARl b B e

45/ 200y =11 W 2 -ay-2aFEAE

(Al x=2, =4 B) x=-2,y=-5
(€1 x=-3,y=1 D x=-2,y=5
Solutions of 2x + 3y = 11 and 2x - 4y = -24 are

A) x=2,y=4q B) x=-2,y=-5
(€] x=-3,y=1 (D) x=-2,y=5

4(:/ tan 30* sin 30°. cot 60%.cosec 30° =

| ]
Al = 1
L. B 3
() 1 o 1
4
47/,%mmdqviqrémmzmcm‘kﬁ1mmt
(A) 144 cm’ (B) 196 cm’
€ 212em’ (DY 216 em®
If the total surface arca of a cube is 216 cm?, its volume is
(A) 144 cm?® (B) 196 cm’
$ :
(€) 212em’ \\ (D) 216cm
48, ﬁmnm%&ﬂmm? ?
(A) 5x+2@=12+3 B) xP-x?=(x-1)
(C) (x+3)? a3(x2~5) D) (V2x+3)¥ =2x?+5
Which of the following is not a quadratic equation ?
(A) Sxe2x?=x?+3 B) x3-x?=(x-1p
(€ (x+3)3=3(x?-5) (D) (V2x+3)=2x2+5

39,  WHM FO{ T} ASA F HAGAN & WA 9 ¢ 16 &, A IF T TDT & QTG
&1 3 &9 g 2

(A) J:4 (B)
SO 301 (D)
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/hr tatio of the volumes of two cylinders of the samc height 13 9:: 16, then Wha
ts the ratio of their surface arcas ? |
- 1A J:4 (B) 2:3
(C) 3:1 (D) 4:3

0 WEr15.6) [ A6,5) 3R B4, y) T E AR T AB 47 gy,
1

&My O wm g )

Ay 5 By~ 7
(€) 12 hiD] 16
irp

[5.6) is the midpoint of the linc scgment AB joining the points A { g, 5)
and H( 4, y), then Y cquals to

Ay 5 B 7
€12 (D) 16
51, T4 ot @) St o1 twm omd @) wifawar &
; 2
N3 ® ¢
. 1
¢y L il
3 S O 3
A dic is thrown. Théz)@s}obnbility of getting an cven number is
2 &
A = Q l
a3 @Q\ | =
@ L ° !
3 O 3

52. 96 T HAWIT PHGT T ¥ 2

(A)  2*x23? B) 23x3’

(€)  2%°x3 D) 2x3%

What will be the prime factor of 96 ?

(A)  2%x3? (B) 29x3d

(C) 25x3 (D) 2x3’s
[210] G |7036-G i) Page 16 of 24
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:‘,]/ r Fom & ma g M g b

4 3
BT S B 2’
. J_ 3
(€) h (D) %nr"
The volume of the sphere of radius ris
4.3
A Fr (B) -g-u’
3
C L |
(C) 2 (D) %nr"
54 (1-cos?0)(1+cot?0)=
A} 0 @ -l
1
€ 3 oy 1
55. faa® BClOE, AD: AB= AE: x, 0 x WAL R
(o
E
$
N
S
N
& A D B
A} BD Q@Q B BC
(C) AC N (D) EC
In figure BC|DE, AD: AB= AE: x, then xis equal to
c
E
A D B
(A) BD B) BC
€) AC (D) EC
[210] G (7036-G un Page 17 of 24
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‘:f), R em (T o ga & st @ erEe }

i
(Al 64 cm? (B 100cm

d
(€) 125 cm? (o 128 cm

The area of the inner square of a circle of radius 8 cm 18

A} 64 cm? (B 100 cm?
(€} 125 cm? (D) 128 cm’
57 _ AABC 1 ApEF 8} AB _ BC 3 g finga wew g, 9%
" DE " DF * A

AV /B = ZE (B) ZA=Z4D

IC)  <B=4D ) D) £A=ZF

A BC - ' !

f DE = DF ' AABCand ADEF, both of these triangles will be similar if
(Al /B« CE (B).  LA=2D

) «sB=/sD (D) £LA= LF

52/ dzﬁqmmmqwk.mmmﬂmmmﬁ’ﬁ
K\Q
LAy T §® B  ®a dw
\Q‘b
WA .

(€  #a g (D) W@zl sran

Il a pair of lincar equations is inconsistent then the lines representing th
will be

(A} parallel (B) always coincident

(C)  always intersecting (D)  intersecting or coincident

59 1 WAIH F R 8670 & 3 T6F RoWo 17 ¥, A Tww FoWo #M

(A} 102 (B) 85
(C) 107 ~Dr~ 510
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') i1 be
The product of two numbers is 8670 and their HCF s 17, then their LCM w

(Al 102 (B) 85
(C) 107 N(*] 510

bU/ 0,8 ar 22 W1 Hoqo Jﬁ{ HoWo T JFFT?‘ t

A 1320 ) 2:22
€] 8:6 o) 12:3
The ratio of the LCM and HCF of 6, 8 and 22 is
(A 132:1 B) 2:22
€ 8:6 oy 12:3

Tvy - ¥ / SECTION - B
z="'[Iai"ﬁ'”“'ﬂJ'SI:ort Answer Type Questions
mﬁwmzvamaqmﬁn.mawlmﬂtmi.mmasm
3 3w i h 15x2 =30

Question Nos. | to 27 are Short Answer
cames 2 marks. .@

1 e g & o mg@i%%ﬂ ax?Z ax -1 =0 F & FrETet
Using quadratic qua find the solutions of the equation Ix?-4x-1=0.
& ——Tow w5 3 o v b 2
Prove that ¥2.is an‘irrational number.

K} a&hﬁ'[.t,y].h"i?rﬁ[ﬁ.-l]W[Zalémk.?ﬁm?ﬂfm,t~y=3.
2

_Answer any 15 questions. Each question
e 15x2=~30

)
-~

If ( x, ¥ ) is a point cquidistant from the points ( 6, -1 ) and ( 2, 3 ), show
that x-y =23,

3. WG @ Moo 18 AWl IFH UAHA 12960 &1 A ITF FoHo Wd HI1 2

The HCF of two numbers is 18 and their product is 12960. Find their LCM.
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iﬂ 1w an Wl !?‘#F! fiw f';pﬂt 2.%), 10, 1) 2, .'Hll“nil 2

Using the distance formula, show that the points (<2, 5 ), (0. 1 Jand (2, .3,

are collincar
e der & ST W) afef 132 em S 3ER) Sk 25 om R M 4R W s

yrt &l 2
if the arcumference of the base of a cylinder is 132 cm and its height in 25 ¢y
find the volume of the cylinder
7 o oapc o wfag fop R}, fage @ ¢ o b fag wt fs
an? = 24¢? 2
ABC is an isosccles tnangle whose angle C is a nght angle. Prove thy,
AB? «2AC%.
8 9% an0= 2, asin0-bcos0 g7 gqry ym i 9
asin0 + bcos0
If tan0 = 2, then find the value of £ 8in0 - bCaal .
b asinQ « bcos0
9 mﬁmﬁﬁ%mwmhm:ﬁﬁmw&mﬁmmma 2
Three coins are lussctﬁ}’gcthcr Find the probability of getting three heads.,
10~ fwfafmmtg@amm‘}. )
o
Find the mc& of the following distnbution :
Cluss- 40-50 | 50-60 | 60-70 | 70-80 80-90 | 90-100
interval
- —
. 15 25 14 12 8 6
Frequency
1. fo@ & 1& wn48*@n23* ana2*an67 = 1. ,

Show that win48*tan23*tan42*tan67° = | .
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12.

13.

1S.

16.

17.

18.

fag @ifs
3 i f gt P(3,2),0(-2,-3) 3% R(2,3) T wawio fopr @it 2
d

Show :
how that the points P(3,2), ¢ (-2,-3)and R(2, 3) make a right angled

tnangle.

fag £ 1=1in0
w R T+ sing = (sccO-tan0)?, 2

Prove thay l=8ing
+1ind

P ABCH spnsi apmar ac Q) fag p it £ WL @ WER & f6 D] BC

W AD«(7x-4), DB =(3x+4), AE=(Sx-2) T EC=3x, & x &1 1™

(necO - tano)?,

Frared | 2

In AABC, D and E are points on the sides AB and AC respectively such that
DEIUC. If AD=(7x-4), DB = (3x+4), AE = (Sx -2)Jand EC = 3x, then find

the value of x.

AL Gx’-g_utq:qmmmimmismmm&?lﬂﬂ Hay &)
T ®Y Ay w'gy 2

Find the zcroes of the ésl\ynomin.l 6x° -3-7x and verify the relationship
between the zeroes un%ﬁ e coeflicients.

}. Hﬂftﬁlﬁm@:ﬁl 2
@

Convert 1.8 in the form ol’%.

eitae g 7x 22y = 3 3 220~ 3y = 16 W TH PA fafy F ga & 2

Solve thc system of cquations 7x-2y=3 and 22x-3y=10 by cross

multiplication method.

gfe wie st w7 @ g L mgzﬁw g, @ 63 41 9% & A ety 2

If the scventh term of an A.P. is % and its ninth term is %, find its 63rd term.
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19

21

2.

‘ -
Q) ot w1 3l 4 ¥ e Tk apd W 21 v o ma et

The dilference of two numbers is 4 and the difference ol their reciprocals iy 4

2]
Find the numbers

et Wy nEy ym Wt

Scoa’ 60° « Anec? 30* - Jtan

J 45.
nu: 30" » cos® 30°

Evaluate the following :

Scon® 60° + 48cc? 30° - Jtan? 45° |

sin? 30° + cos? 30°
foe &t f& qn s R fed) farg ot divdt ot wd tan, w0 fag wtem ol o
fraer wr #ta gl & )
Prove that, the tangent drawn at a point of a circle is perpendicular to its rad;y

passing through the point of contact.
TH SNGAER Uk &) 8TEA yA w1, g o 360 m ¥ 2

Find the arca of a semi- cn@:lar park if its perimeter is 360 m.

23/ﬂﬂﬁﬂ¢5mt§i§—ﬂ& R Ty e m—

24,
(

Frefefaa 4z #1 ages ym

QO
#i Q\Q 2

Two dice ur%%mwn together, then find the probability of getting sum of two
numbers is 8 on both dice.

(2%

Find the mode of the following distnbution :

- 3T
Class- | 80-85 | 85-90 | 90-95 | 95-100 | 100-105 | 105-110 | 110-115
interval

LIrCIrG1
Frequency

3 27 85 155 110 45 15

[210)G |7036-Gm.] Page 22 of 24

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

45

0
~

a7

U6 s @) o) 5 o o ¥t 12 cm B T OF TR ere Frem
P

Find the curved surface area of a cone whose radius of base is 5 cm and height

is 12¢m '
fters e weeifon 1 s w0 1651 a1 2032 W oo Fred

U""H EU(IIII s division “l‘n"thm_ find the "CF of l651 and 2032

3 I Apc w1 dzw fax Wi Pk vt feg (-1, 0), (5, -2) 3
(8,2)8 A

Find the centroid of MIC whose vertices are (1,01, (5, -2 Jand (8, 2)

¥id F9fiT TV / Long Answer Type Questions

U Wom 28 @ 35 € Fite §oopd @ fe o ol @ e 4 R oF & fag

s 3w fyaifm &) 4x8+20
Question Nos. 28 1o 35 are Long Answer Type. Answer any 4 questions Each question
ocammies 5 marks ® 45=20
28 wilEw g 3,”9.@%% 9x =3y =6 W UTE uid 31 e Wt 5
&
Draw the graph @u of cquations Je -y =2 and 9x - Jy = 6 and solve them
N o |
29, wF agifuencye b TR A W OE s m 3 wr & o st @
AT E101 @ 307 MR 450 o wgpdaen wA w Fari st = A & a@g
&) gt W 5
When viewed from the top of a multi-stonied building, the angles of depreasions
of the top and bottom of an 8 m high building are 30* and 45° respectvely. Find
the height of the multi-storied building and the distance between the two
butldings
30. fox & f& fait o & ofom auta i, wwada e 5

Prove that the paraliclogram circumscnbing a circle is a rhombus.

[210] G [7036-G u7) Page 23 of 24

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

13

14

35

du bt gl o4 W)y poed g @) A at e ot a4 W) TR

v R g a4 st p @) mhim s e 38

Five years ago, A was thnce as old as [ and ten years later A sha] b twice
old as H What are the present ages of Aand [ ?

feg vt s [cosec A -sinAj(accA-coaA )= tan A ¢ cot A

¥ ]

|

Prove that (cosecA-ainAj[secA-ConA|= tan A+ cot A

Tf!‘f’AﬂfﬁmﬁhﬂﬁAﬂ-&m.BC-ﬁcmm(ADC-(;U‘L%,,
?*Fn{ntﬁmﬁmﬁmmmwﬁmqﬂﬁﬁ%q:ﬁﬁ.

o

Draw a tnangle ABC in which AB = 5¢cm, BC = 6 cmand ZABC = 60" Then

canstruct a tnangle whose aides are %’- times the corresponding sidey of AdBC

wmwmmm:ﬁmmmmummsqrﬁzakmm"-u -
mmkunm&wﬁwzlmm5treuammmt;mm:s
ﬁmutza?tmaq’rzmkﬁwmﬁl

A motor boat m\cr@km upstrcam and 28 km downstream in 7 hours Also

it covern 21 kﬂ%&)!lrtnm and come back in 5 hours Find the speed of the
maotor boat l%%ll water and that of the stream

*?fm,mcmmqﬂaﬁfﬁmacmkﬁmﬁﬂtmwzwFm"u( #

Jawd, e qa pe wifes p o Fawfm e b 6 cm T 8 cm }1 A
AB T AC ¥ Fadt s 1)

b

.1
A triangle AHC is drawn to circumscribe a circle of radius 4 cm such that the
scgments BD and DC into which BC is divided by the

point of contact D are of
lengths

6cmand B em respectively. Find the lengths of the aides AD and AC

I 210 I G ?03{)0 17}

Page 24 of 24

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

